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) All questions ars compulsory.
ii) The question paper consists of 31 duestions divided into four sections A, B, C and 3.

Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6 questions of 2
marks each, Section-C comprisas of 10 questions of 3 marks each and Section-N comprises
of 11 quesiions of 4 marks each.

iii) Uuestion numbers 1 to 4 in Section-A are very short answer t/pe questions to be answeiad in
One sentence or as per exact requirement of the question.

iv) Use of calcuiators is not prermitted.

Section-A
Queastion numbers 10 4 carry 1 mark each.

1. The decimal expansion of the rational number Samr will terminate after how miany places of

decimals ?

2. Adata has 25 observations arranged! in descanding order. Which observation represents ihs
median ?

if zeroes of the quadratic polynomial x* « {@+1)x+b are 2 and -3, then find 2 and by

4, In AMABC, if AB = 6\/50177, AC =1Zein and BC = 8¢m, then find the measure of angle B.
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Section-B 0 WOt

Question numbers 5 to 10 carry Zmarks sach.

8. Find the value(s) of k for which the pair of linear squations fo -+ 3y =k—-3 and 12x +fky =k
has 1o solition.

6. Inthe given figure, PQ || SR and PO : RO = QO : 50. Find the valus of x.
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’ I If Fan2A = Got (A —18°) , where 24 is anacute angle, find the value of 'A’.
3 - ';_‘ L\ -‘ / . (93 - ol .
8. if §in(A-B)= ), and 2€0s(A+B) =1, find Aand B.

9. In the given figure, ~CED = ZCAB. show that ACED ~ ACAB . Also find x.

C
/

10 cm

10.  Find the mode of the given data :

Class interval | 0-20 | 20-40 | 40-60 60-80

Frequency 16 6 18 10

Section-C
Ouestion numbers 11 to 20 carry 3 marks each.
11.  Provethat 5 2./3 is anirraticnal nuimoer.
12.  Gugu and Sukhi take steps of 84cm and 64cm respectively. If they start in step, how far will
they walk before they are in step again ?
12,  Solveforxandy:

ax by i 5
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ax — by = 2ab

44, If o and B are the zeroes of the polynomial p(x)= X% —6x +8§, then form a quadraiic

polynomial whose zeroes are -~ and 55
P48 4 ~
15,  Avoint O inthe inisdar of a soiangle AL is jninaa wit ea

triangle into two parts of equal arsas. Find e FEIS =
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17.  1i 8ino + Gosé = p and Gosecd + 8ecd =q, show that q(p“ -—1) =2p.
18. Provethat:
(1+cot A+cosec A)(1+tanA—sec A)=2

49. Find the mean of the following frequency distribution using step deviation method.

classes | 0-10 | 10-20 | 20-30 | 30-40 | 40-50

Frequency | 7 10 15 8 10

20. The daily expenditure of 100 families are given below. Calculate /; and £, if the mean deily

exp=nditure is #1838,

o —

xpenditure * | 140-160 160-180 | 180-200 | 200-220 | 220-240 ;

No. of families | 5 25 ¥ RA 5

‘Section-D®.. °

Question numbers 21 to 31 carry 4inarks each. >

21.  Show thatany positive odd’ mteger is of the form 8q +1) or (Bq - 3) or (aq +5) or (8g +7)

where qis same integer. A
22. Find other zeroes of the polynomial | S —9x* - 3x +18), if it is given thal
= () =2 VSIliCs [ e
yy thesa ines an S
3g+v=-5=202x-y-5=0
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3.

purchasss 5 mementos and 8 trophies the amount spentis #1612 .F ind the cost of a memento
and a trophy. Which value you prefer the mostto be awarded and why 7

Drave that thiee times the sum of the squares of the sides of a triangle is equal to four times
the sum of the squares of the medians of the triangle.

in the given figure - is midpoint of side CD of a parallelogram ABCD. The line BM is drawn
intersecting AC at Land AD produced at E. Prove that Ei=2BL.
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Prove that:

1 1 £ R 1
secd—tan cosd cosé " secd+tané

Evaluaie .

cos? 40° +cos? 50°
sin? 40° +sin? 50°

cos(40° - g)- sin(50°+ )+

If sing +cos @ = /3 then prove that fand -+ cotd =1

100 surnames were randomly picked up from a local telephone directory and the distribution
of number of letters of the English alphabet in the surnames are obtained as follows :

.
No. of letters | 1-4 | 4-7 | 7-10 10-13 | 13-16 | 16-19 L

No. of surnames | 6 | 30 40 16 4 4

Determine the median and mean number of letiers in the surnames. Also find the modal size
of surnames.

1 2s follows:

|

During the medical check-up of 35 students of a class, thair weights were racordec
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the median weight from s



